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Let him sit in his place and protest — SRR SNDITR 29N

OVERVIEW

X127 asked 1"7 (who maintains 7Xm» X7 1192 ROW 7Rm7) why did 7770 " say (that
the three 7117 years is in order that (even) if he is in X»90K; the 7117 is a year and a
year to inform him) and a third year so that the W ¥vn should come and be 7m;
why does the 7¥7yn have to come, he can remain where he is and make the nRm»
from there, if the rule is AR X7 1°®2 XKW A8kAN. Our NBOIN clarifies s'R29
question and s'1"7 response.

mooIn asks:
-39 YHOY NN Y2 TP999N NN

It is astounding! Instead of challenging 1"7 from the ruling of 3"+, let us

support 1"1 from the ruling of the 1239 -
— ANNM NMN 1393 RIY ANNN 29207 9599 N

Since it was previously proven that the 1127 maintain 7872 X257 19102 XYW I8!

N1B0IN answers:
— 21310 150 N1 PNYS 19529 IIINY

And the "7 said that X2 was mistaken -
— NYNVYI ARNNN Q) NYNYI HPINIY OIPN 59349 NIny1 N‘Pﬁ'm

And he assumed that wherever the 77?117 is heard, the 8n% can also be heard -
— NN ) Y91 NINAONY NN 311‘,7?!’\1‘1\0 ) Al

And just as a 7pn is [heard] from 77717° to X°%poR, similarly the 78m» is also

heard from X°»90K8 737177 (or from 771777 X°1DOK) -
— 11135 19392 N2YY N7 %249 9N 297 1999N)

And nevertheless v''9 states that the 2¥7v» must come before the 1172 and be

I -
— NP NN XY 799 DAY NPIND PR I5939 AN IPON 920 1339

And the 3121 maintain that the 1P is not heard even from 173 to »93,

1,1 (where n"ax7 said XA K17 1192 XOW AXAN 220 DNWY).
? X327 assumed that both *"1 1327 maintain XM X7 K7 17192 X9w 78, In addition X271 maintained that all agree that
wherever the 7P can be heard the 7%n» can also be heard. The nponn between 731271 "1 is that °"9 maintains that a
7711 can be heard even as far as X90K (that is why it was extended to 0°1¥ '3), while the 7127 maintain that a 7pim
cannot be heard even 2°23% 77°n, it can only be heard in 7777 or in 2°%3. In all cases however all agree that even
where the 71p117 is heard the 7v7y»n must nevertheless leave his place and be °1ri7 192 M.
* The n"2n1 Mx1 amends this to read 777 AYRWE TPINAY.
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therefore it is not a 7P -
— 9% 19393 RAYY 1Y NPIN NN NYNYI NN NI DaN

However from 779y1% 77931 the 7911 (and the n8nn) is heard and it is a npin,

unless the “v7v» will come before the p°1in and be 7% -
— *nNnm 1 RY 19393 XYY KDY S99

But everyone (°"7 1127) agrees that a 9152 X®@ 78172 is not a valid Nm» —

mooIn responds to an anticipated difficulty:
— 19 YRIYN RP NIV NYY NIYT TEIVNINT 1IN 29

And 1"9 who found it necessary to answer K29 that >"2 (when he said w5 Xan

nanX) was merely giving the 7v7vn good advice, but not that it is necessary for the
TyIYn to actually come since XA " 1152 ROW RN -
— 51341 AN KON DYRYI NPR ANNDAY 299 NININTN 2115 581 N9T 199 3 N9

But why did 1"7 not answer X211 that the 7v7v» cannot sit in his place and make a
7R from RPDOK as X217 suggested (even though RM7 X177 1192 XOW 1XAN), since a
nxm cannot be heard everywhere, but only in the same country -

mooIn responds:
— %399 N2Y AN %29 799819 ININ D SWPN NINT DIVYN
Because (if 1" would have only said that a 7Xm% cannot be heard nAnX 71°772) X2
would still have a difficulty, why does 3''9 require the 77y to come before the
P°1n; when instead the yvn -
— NN OV PRONAY NN 1Y 9
Should go until the country where the P> is and protest without appearing
personally before the p>tin (if A& X7 1102 XOW axnn). Therefore 1" told him that indeed the

2yvn need not appear personally, however 9"np 7210 13y that if the 7v1yn appears personally he
will be able to collect *7791 X¥IX.

mdoIn will now prove that the words of > indicate that the 7Xm» should be 1192:
:73'\’\0"1Q‘Tb 19399 NaAY I8V ¥IWN 1MYITI NN NINNK NIV NN NP NI4T
For since "1 did not state in the mw», ‘and he will come the next year and

* Therefore 1" cannot find support from the 1321 for they too maintain (according to X27) that X7 X9 1192 Xow 7IRMN
7R, However ®27 could not ask from the 1127 since they do not clearly state this; the question is (only) from *"
who clearly stated nInX 7IwH X2,
3 The crux of s'x21 question and his error was that he assumed that a 8n» is heard as far as a npin is heard (and
therefore he asked that >n=>21 7°n217% ani 2°n°%). 1" should have answered him that your assumption is incorrect; a
nXmn cannot be heard (as far as a pi, for it cannot be heard) in a different country.
® See later this nooOIN (footnote # 7).
" See 1x 7"7 2,m% ' [TIE footnote # 19].
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protest and they (those that heard the 7Xn» from the 2w vn) will inform the P17’
this (the absence of the word ¥m1y°71") indicates that it is necessary for the v vn
to appear before the P> (for if others inform the P17 it is not an effective ARMM).

SUMMARY

X217 in his question assumed that a 7Xnn can be heard as well as a 7P and both the
>"') 1327 maintain AKX X7 KD 9"aw IRMA; they argue whether a P is heard from
afar (°"1) or not (j127).

THINKING IT OVER

According to 1"9; can a 1 be heard as far as X190K (from 2°%3% 7717°), according
to °"71 1327? Can a 78nn be heard from as far as X°n90X (from 2°937 777°)? What is
the rule regarding 1°192 89w axm (according to *" 7127)?°

8 See n"m.
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